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onfeyemyset / Instructions

(BEBMIL DIBeenIHmeT allewienllILSTITH6T SHeummoed Llaiumns Geuewmi(BLd)
(Candidates shall comply with the following instructions

. elewrer ILSTITH6T, Balalem — allewl HHTel OHTGLUI CTHHID 72 UHBHIHM6TH
O®TemIBeTengl.  eladilmS  (IpHelled o mig  Gguigl  Gameten  Geuewi(BLb.
8505160 gBhamild GemmumgmLiiier, o L enguinted Geauml OHTGlemu BCxHiTeyd
savisreoiluTenfiL Casmill QuBmis Gameten Gouewi(LD.

Candidates shall first ensure that questions-cum-answer booklet contains 72
pages. In case, if any defect is found in this booklet, they can request for

replacement from the invigilator immediately.

. @6uGleurm(m alemalB@Lb 60T HFHeNUITS allenL ST BHIUHMB O\ 601 &L b
RFHIBHLILL(BHeTengl. el IUSTITH6T  @alOeur  alemalB@GL — alenL weildbs
R@IBsIILL  BLHHed  wLBOL  almiwellds  GCouewiB.  allewLweildbs
RISSHILULL B HHDBSG OeualG TS 61(1DHHInL TSI

Space has been provided to write the answer for each question. Candidates
have to answer the questions only in the space provided for that question.

They should not write anything outside the space provided.

. elewrentl ILSTTH6T  allemiHHrefler  @alGeurs  Ufleled  oimleymisHsil Heirern
aTewienfidemauieone  alemesendd WLEGOWD almenweldss GouewiBld. DSBS
WenasWwner  clanicnlbmauleoner  alamesendd el welldHsHTe0, @6l
Lflaflest (pgalevd Wemauiment elewiemnibendulled allenuwlelebsliLl Lenal  Hewidad60
I HHIHOBTETENLILIL LT L TG

Candidates should answer as many numbers of questions as instructed in
the question pager in each section. If more than the required number of
questions are answered, the answers written at the end of each section will

not be taken into account.




. ®aualem — allewld CFHTGLLID alemeseT SUOD LOBBID LBV 6 AIHIGH6T60
® GiTeNell. SIMAHDH OmIGTeID RS0 augaled SHIUUL(BeTen  GpIlisCern
(LPIQUTEITENE.

In this question-cum-answer booklet, questions are in Tamil and English

versions. In all matters, English version is final.

. elewieni ILSSTITH6T @b alem — alwld OHTGUIHHSH 6lhHdH HTEnETUD
SHPSHHIN_BHInL_TH|.

Candidates should not tear off any leaves from this question-cum-answer
booklet.

. B8508zTemey  CUTHISHUMT,  DIPSTE  PSHIUSBHTHAD,  Llenpulle060mLoed
(BIUSBETHAD HONWTS LOFHLIGILIGHIHET SHISBLILL aI606M6L.

There is no reservation of marks for neatness of writing and correctness of
spelling in respect of this examination.

. eNeTeILILGSTITHET &g aligaleonel alMESEHHEG ol weldb@Gh  CUTIS
shdsagd  QuuIGwT, uHCeusmIeneICUT  IIPHIHILIFH. ShISenH  GLuwlfed
MBOWITLILILOIL6)LD DI ule0emev. S|GMAITNDT60T AT BB ETHH S,
LIGleval@GOLITpEI alemméseaisd @MILLIL LU Betem GLwT wBBID (paeuflenwiGu
LweTUBhSHSH Ceuewi(BHLb.

alleméseied GuwT, (Woeufl Sisluemen GNUILLIL UL allsbeneolulened, “OIeDIlILBT,
“QuEIBT Waaufselled & & & DIELVGH 61H0 PUI BFL DILEVSHI 61560 6186
adber0 CGumer GuTgIt OuuwiTeemen WL BOW 61(1psH GouemiBLD.

Candidates should not write their name, register number while answering
letter type questions. Putting signature in their name is also not permitted.
To answer such questions, the name & address given in the questions alone
should be used.

If no name is given in the questions, they should write the general names
like ABC or XYZ or XXX in 'From' and '"To' addresses.
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UNIT -1
difley — &
Section A

GPilY : 1. geuleurm alamalB@h 150 QFMBEEndE WaTwed alenLwefldaeayb

Note :  Answer not exceeding 150 words each.

ii. geleur(h alamalBGLD USHSHI LHICLICTISET
Each question carries ten marks.

1. OCam@ssUU._Beiten g ealameseied sameauCuad OB elaMeSEHHES

G aflenLwelbosa|Lb.
Answer any six questions out of seven questions.

6 x10 =60

1. Industrialization of India is one of the benefits of British Rule in India -
Argue.

@phaHwur  Gampecowwiordsiu’ L g Ufllyad o Hulesr OsmenL. —  aleursid
Ogu1s.

2. Elaborate the causes of Vellore Mutiny.
Gougorrm UL fbsmenn STJenimibene aleUJLomd  6I(LDSIS.

3. Bring out the contribution of Raja Ram Mohan Roy to
consciousness.

Bxrdlw o _ewiTeydsehd@ Treamymbd Gurseaymul mpBlul Lkislemet Galer

4. Narrate the objectives and the achievements of the Justice party.

National

HOHTEWITSH.

pHS s Fulelr ChTHasmden LOBBID FTHmeIbmen afleaFILBGHHS FnBIib.

5. Explain the significance of Queen Victoria's proclamation.
al&CLmflwm wasmrenl LFsLaidHlar (WwhHusHHiadhamsd aleuf.

6. Examine the causes that led to the South Indian Rebellion.
OpeeibHW UL 5@ B B6F OCFSIm STTRIRISmeT LTTUIS.

7. Examine the objectives and the activities of the Indian Association.
OphHw FhsHH CHToHHD WBBID CFWEOLTHSHM6T HLTTUIS.

Ufley — &
Section - B




GOy : 1. gealeurm alemalB@l 250 QFMBEEDdHE WETwe alenL wiefldaeab

Note

10.

11.

12.

13.

Answer not exceeding 250 words each.

ii. @eleur( aleamalB@d USHmenbdl LOFHIICLIHISET
Each question carries Fifteen marks.

1. Qamhéssiul(eten Hm elamssefed smauCuEId bH laMmebsEHHES
@G allenLwiel&osa|Lb.
Answer any Five questions out of six questions.

5x15=75

Discuss the steps taken by the modern social reformers for the emancipation

of women.
“GuexTH 61T 65T Al BHMVEHTH, IS Fepd FF(HHBHeUTSH H6IT QIS
BLAIYHMBHENET alleuTd).

Describe the limitations and significance of the Swadeshi Movement
§6xd QUISEHHHET GHMBLUTHSBMEMUD (PoHHWSHBHIOSHMBWID aleurl.

British backed the Muslim league and played a vital role in the formation of
Pakistan - Examine.

(per06eSld 60emad FHTHFHI DIHET clpevld LTHOHTET 2 (HouTsh mISGeowlT i &
e (PSS LRISTBBIWS — STTUIS.

Explain the causes for the failure of the Revolt of 1857.
1857-1b oewi® Lyl Fufest CoHmevalldbamet Sryewnimibemet aleuf.

Evaluate the role of “Veera Pandya Kattabomman “in Indian Freedom

struggle.
AhHw S&FHHBHIL CuImLSHFHe0 aljumentouwl &L L GUmboelier Likiglenet &HULIBHS.

Describe the growth of Revolutionary Nationalism in India.

@bhgHwmelsd Ll sy Chdw eaungdhder euenTFFulenet aleur.

g — 11
UNIT - 11

Uifley — &
Section A

GOy : 1. geaueurm alemalB@ 150 QFMBEEDdHE WETwe alenL wiefldaea)b
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Note :  Answer not exceeding 150 words each.

1. gelCeun(p alemalB@L USHSH LLSHIICLIETTSEI
Each question carries ten marks.

1ii. CamBaHELILL [BoiTer [BTETS allenm s aeriled eTemeuBuignILD PG
Al SMEDBEHGBG LB allenLwieildaeaLb.
Answer any three questions out of four questions.

3x10=60

14.  Find the value of the following.

3 (-6) (-8) (5 2 3 1 3 3
a. —+| — [+]| — |[+| —= . =X—————x—
7 \11) (21) (22 57 14 7°5
7 (-3 7 5 2 3 1 3 3
C.i=X|— |p+i—+— P =X —————X—
{5 (12)} {5 12} 5 7 14 7°5

BIDHBHEWIL_N6UDBEHDHE DHILDH BHT6wIH.
1
4

S 1

2 -3 3 3

L =X— “x=

5 7 7 5

7 (-3 7 5 2 -3 1 3 3
C.9=x| — [t 4+4=+— d. Sx—-—-=x=
5 (12 5 12 5 7 14 7 5

15. a. At present Harish’s father’s age is 3 times Harish’s age. 5 Years
before, Harish’s father's age was 4 times Harish’s age at that
time. Find the present ages of Harish and his father

b. The sum of three consecutive natural numbers is 3666, then find
the numbers.

(o) anfedear shswla awsTard SBELUTH anfader aWmSLICLTED ety
IDLBISTGWL. 5  UHLEGBEHSG (Wi, oamfader Hhodular  awSHTaIH
SIHCEISHH 0 anflagler auwemsll Gumed 4 LMEG el amfad wBHBID Deufler
SHenSUler HBOUTMSHW UULISHIBM6TDH HTEWIH.

(o) ety DIBSHHBHH Buled eleibeMer FnbhHeo 3666 eleled Dl6ilbl66mTIHM6TS
SBITE0I .

16. a. One card is drawn randomly from a well shuffled deck of 52
playing cards. Find the probability that the drawn card is
i. a diamond ii. not a diamond iii. not and ace

b. a number is selected at random from integers 1 to 100. Find the
probability that it is
i. a perfect square ii. not a perfect cube.

5




(o) BAIG SIMVHH DbSHW 52 FL(heemend OaTemwiL S 19e0(HbHEH FLOGUTUILIL]
(WpBUled o FLB IBSHHIUGHBE. LeauharauBBiBG B HLDHH6 D6
BT .

1. (s FLB LWl 5 B(HHs
ii. eiBdhad FLB LW EeL60med B(hHdbd
1. abdd FLG g FLLTSH Be0evToed B(HdHd

(&) 1 waed 100 euengulevmenr (W eTewIBaMed(hbH FOEUTUIIL  (WenBUiled
BB BHHBLILIBLD (T  6T600T
L @ WP aTEEHTE (BHHSD.
ii. @pep senomd  Heveomoed  (Not a cube) BOmES  SpSweumNSeT
BBLDHHODHMN6NDH  BHIT6IIH.

17.  Find the selling price (SP) if a profit of 5% is made on:
a. acycle of X 600 with X 50 as overhead charges
b. alawn mower bought at I1,250 with 100 as transportation charges
c. afan bought for 650 and expenses of ¥ 40 made on its repairs.
BDEHBEIL. QUT[HL BEHHEG D% OTUSHHBG alIBUMT alenevenuldh HTewIH.
(®) @ WdHeaeing I600 && aumbsiIUL G I50 BFH) CFeva|meT GEFUILILILILLT6)
(&) @ e Geu Gb Gumps 1,250 eummisiiul (B 100 CuTsGarsHs OFeve,
CaulwiLl L Gi.
®) @ et aldpf 650 &@ eummislul (G I40 LIRSIUTTHSLUILIL LS.

Lifley — <4
Section B

GBIy : 1. gt alamalB@d 250 CFTBHEDnGHE WSTO alenL welldsea)b
Note :  Answer not exceeding 250 words each.

1. geleun(p alemalB@ld uHenenba LSIICLIGHISE
Each question carries Fifteen marks.

1i1. QaTBHBLILILB6lT6r CLPSIDI 0¥ 1) aTenauGuignild Byewi®
allemebHEHdHEG LB allenLwefdbaalD.
Answer any two questions out of three questions.
2x15=75

18. a. A bag contains 5 red balls and some blue balls. If the probability
of drawing a blue ball from the bag is thrice that of drawing a
red ball, then find the number of blue balls in the bag.

b. If A is an event of a random experiment such that P (A) : P(A) =
7 : 12 then find P(A)




19.

20.

c. There are 7 defective items in a sample of 35 items. Find the

probability that an item chosen at random is non-defective.

(@) @m eouuled 5 Jeuly BB v Hev HMU  UHBIHET 2 _6iT6renl.
Slluuledbhsl @b B BBU UbMS GEUUSBETN  BSDSH, @b
faiy  BHiBlubmsd  aBLUUSTBSTET  HHWSHIBale 3 WLBEG — 616leL
SllIenLulled o 6ol [Hev HIBLILIHSHIHT 6T  6T6wT6001 HeNHENUIG HT6WIH.

() @ Foamuiiys Gasrgpameiulsd @m Bapsdl A ees. oF P (A): P(A)
= 7:12 eiafled P(A) g3 smewis.

a. Find the simple interest and the amount due on I7.500 at 8% per
annum for 1 year 6 months

b. A sum of money triples itself at a simple interest rate 8% per
annum over a certain time. Find the number of years.

c. Find the rate at which the sum 20,000 yields the simple interest
< 8,000 over 5 years?

@) T 7500 &3 8% el eaf®bdD @F UEHLID 6  IDTHBIGEHHBTET
SHOeUL19DWIUD OHTENHEDUIUID HT6WIS.

(@) @m GIIIL ggureig 8% salally aissHdHe cHHmen DeHIBH6NT6e0
PGl LOL MRIBTGHLD 61605  BHT6uI5%.

®) oe0 T 20,000 55 5 spawihseied Halauly I 8,000 HensHHBH 61660
ALY QIHHMHEH HTEWISH.

a. A cone, a hemisphere and cylinder have equal bases. If the
heights of the cone and the cylinder are equal and are same as
the common radius, then find the ratio of their respective
volumes.

b. If the volume of a solid sphere is 7241 %cu.cm. then find its

radius (nz%) X

c. A Thanjavur Toy is in the shape of a cone surmounted on a hemisphere. If

the diameter and the total height of the solid are 21 cm and 25.5 cm

respectively, then find its volume (Take ﬂzg).

(&) @b omby, @F SoIHCaTend LBMID @ o (Hewel LEHUIET  FID
Slgliugiienens OsTeni(heTenel. gnlblle o Wb, 2 (Henemule o WFHHBE

FoTsHaD, Guoeild SieleyuIld SeuBNlel SLIHSHMBG FWOTHAD  E)(HHSHTEV
@b cpAPe HeT DleNeHEHHHMLCu o 6itenn aIFHHMHH HTEWIS.




(@) o Hauiod CamandHer st  Sene] 7241 %&.@&.Lﬁ GTRN6L  DIFH6H

= % DTHMHDH BTEWIb.

(®) sehameyT OUTDmWOWTEIBI DIwTHEHTeNSHHeT g Fnlbl] SemenihEHl 6lgaled
® 6ileNgl. DIGBIOT 2 (HhHFHel all LD wwBmb 6rdHs o wgh wWwemGw 21
Q.15 wBpd 255 OFI5 eeled DIHET BT  DlENMENEUD  BHTCHID.

= % 61601 QB T6ITD )

svg — III
UNIT -I11
Uifley — o
Section A

GBilY : 1. geueurm alemalB@ 150 QFMBaEndE WaTwe alenLwefldseab

Note

21.

22.

23.

24.

Answer not exceeding 150 words each.

1i. @elCeun(p alemalB@&GLd LSS LLSHIICLIETTSEIT
Each question carries ten marks.

iii. OCaETESBIUL.BeiTen gL ealambseisv samauCLEIDd B eleMoHSEHES
L@ alenLwefldsaLb.
Answer any six questions out of seven questions.

6 x10 =60

Which material has high elasticity? Rubber or steel. Explain.
guUT oB@Ib FHeveuT AFHev 6l GUTHEHHG DIHS WO Fulwed o stenigl. aleufl.

In physics, compare scalar and vector quantities.
AuiBLIwed Sleeyseied erOBsevT WBMID GeudbL T-QULIHS.

NO; is paramagnetic and colourful but N>O, is diamagnetic and colourless.
Why?

NO; smbd) LS SHETMOWEDL WSTEHAD BBLPETNHTHD S(HHHMBSHI. SLETT60
N2Os sMhHelevddd ST WISTEHAID HBIOBBHTEAID HHHBHI? 6J6i?

Explain disproportionation and comproportionation reaction with examples.
Also, find the oxidation number of sulphur in S,0;" and oxygen in KO,.
alFHF Fende alenaisel LBBID Eenewl aldHFH 6leneIHmeT © ST 6mIhIbETHL 6ol
alend&Hd. Goad S,0; 0 &Mhosd wBpId KOz 60 oysbdmeaier oibfeGambs
GTERTEN6ISH  FH6uoTL1515b.




25. Explain in detail the differences between invertebrates and vertebrates.
WPWHOBNIDL]  SBBDAUBEHHGD,  (PHIOBHIDL 2 _TETMaISEHHGD 2 6lTern
Goumpium B o6 wimeneu?

26. Describe different types of blood groups and add note on their significations.
BrHHHHe  UeLCauml  aumBHemen  aleufisd  SleuBBier  (pHBwSHHeUD  Lms
GMBILLY 6TRSI.

27.  What are the biological functions of the cell membrane in an animal cell?
allevmi@ OFevede OFed LLeSHHeT 2 ulfluied uenlladeT wmeneu?

Ufley — &
Section B

GOBilY : 1. geuleurm ealeamalB@ 250 CFMBaEDHE LWaTwed el wefldsa|b
Note :  Answer not exceeding 250 words each.

1. @elCeum alemalB@d USHenarbdl LOFHICLIGHTS6T
Each question carries fifteen marks.

iii. CamTBHFLILL (BoiTer BTG allenmabaeried aTemeuGuWignild CLPGITD
aldMBDBEHBE WL B alenLwerildbaeaLb.
Answer any three questions out of four questions.

3x15=45

28. Alight year is a measure of length equal to the distance that light travels in 1
year. Compute the conversion factor between light years and meters.
6l oLewi(h e1ailG @6l BB @(H UHLSHH6L HLSGHD HeNHSHler WHILTGLD.
SIS 6Tl OLewnged(hhdl L LMler HensHHME WIBBleh HewTsd [BHH.

29. Discuss briefly the Debye-Huckel theory of Electrolytes.

Neu@eflsem uBpsiul 19enL-ameHe0 OdmeTendamul alfleurs alaursdos.

30. What is biodiversity conservation? Explain in-situ methods of biodiversity
conservation.
o ufflueinoll LTSI  616aBTed  eleieri? MO 1 Guemiens B®ID  LUpeumol L
Guamiens (empulled o ufliTueioll UTSHISTIIL e alends.

31. Discuss in detail the dietary sources, biological function and deficiency states
of fat soluble vitamins.
Gamupliled sSemIud  meul L L0aIHeMedT © w6y  (pev ST, 2 ulfluwled
QFwevse WBEMID GepLuT@h GCorTuisemen UBM alleuTddbaeaLb.
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